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1.In biological oxidation energy is produced in

the form of

A. ADP

B. ATP

C. Glucose

D. Lactic acid

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NNlWyPuPUnKD
https://dl.doubtnut.com/l/_clVQ6SbHOa3K

2. Which of the following blood vessels carries

02 poor blood from the heart to lungs?

A. pulmonary artery

B. carotid artery

C. aorta

D. pulmanory vein

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_clVQ6SbHOa3K

3. What are the tiny clusters of chambers for

diffusion of gases in lungs?

A. alveolar sacs

B. lobes

C. bronchioles

D. pleura

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2IuU9NlXG1SU
https://dl.doubtnut.com/l/_CUQtFnADPF2N

4. In which of the following structures vocal

cords are located?

A. larynx

B. bronchi

C. pharynx

D. oesophagus

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CUQtFnADPF2N

5. Which of the primary waste gas diffused out

of the blood onto alveoli?

A NH,

B. IV,

C.0,

D.CO,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Em3ooypmqUQw
https://dl.doubtnut.com/l/_wc2MP4NVmcSz

6. Site of gaseous exchange in lungs is

A. trachea

B. alveoli

C. pulmanory chamber

D. bronchioles

Answer: B

° Watch Video Solution

7.Breathing


https://dl.doubtnut.com/l/_wc2MP4NVmcSz
https://dl.doubtnut.com/l/_cMK8UGBrnH43

A. draws air into airways

B. expels air from airways

C. ventilates lungs

D. all of the above

Answer: D

o Watch Video Solution

8. The amount of air that enters lungs during

normal respiration is


https://dl.doubtnut.com/l/_cMK8UGBrnH43
https://dl.doubtnut.com/l/_MafFvpy6PMR1

A. vital capacity

B. total lung capacity

C. tidal volume

D. inspiration capacity

Answer: C

o Watch Video Solution

9. Most C'O, in blood is transported in the

form of


https://dl.doubtnut.com/l/_MafFvpy6PMR1
https://dl.doubtnut.com/l/_OBkKX60EMrsA

A. carbonic acid

B. hydrogen carbonate

C.CO

D.CO,

Answer: B

o Watch Video Solution

10. During quiet breathing inhalation is

whereas exhalation is



https://dl.doubtnut.com/l/_OBkKX60EMrsA
https://dl.doubtnut.com/l/_XmfspUgS306C

A. passive, passive

B. active, passive

C. passive, active

D. active, active

Answer: B

o Watch Video Solution

1. The respiration medium  flows
unidirectionally over the respiratory surface in

the gas-exchange systems of


https://dl.doubtnut.com/l/_XmfspUgS306C
https://dl.doubtnut.com/l/_8ei34iH6QJEg

A. frogs

B. insects

C. mammals

D. birds

Answer: D

o Watch Video Solution

12. O, in the air diffuses across as it

follows its partial pressure gradient into the

human body.


https://dl.doubtnut.com/l/_8ei34iH6QJEg
https://dl.doubtnut.com/l/_hY4nU5dVjph4

A. alveolar sacs

B. pleural sacs

C. a moist respiratory surface

D. both (a) and (c)

Answer: D

o Watch Video Solution

13. A partial pressure gradient of O, exists

between


https://dl.doubtnut.com/l/_hY4nU5dVjph4
https://dl.doubtnut.com/l/_DD1RHg4ln0Cv

A. the atmosphere and the lungs

B. lungs and metabolically active tissues

C. air at sea level and high altitudes

D. all of the above

Answer: D

o Watch Video Solution

14. Haemoglobin is the O, carrying pigment of

A. osteocytes


https://dl.doubtnut.com/l/_DD1RHg4ln0Cv
https://dl.doubtnut.com/l/_RomL0j9DfHE0

B. leucocytes

C. thrombocytes

D. erythrocytes

Answer: D

o Watch Video Solution

15. Simple squamous non-ciliated epithelium is

found in

A. bronchi


https://dl.doubtnut.com/l/_RomL0j9DfHE0
https://dl.doubtnut.com/l/_pCcm5P5qsmZs

B. trachea

C. alveoli

D. bronchioles

Answer: C

o Watch Video Solution

16. Haemoglobin is specifically described as a

A. enzyme

B. chromoprotein


https://dl.doubtnut.com/l/_pCcm5P5qsmZs
https://dl.doubtnut.com/l/_zhGKUbtdvnGI

C. nucleolipid

D. lipoprotein

Answer: B

o Watch Video Solution

17. Which of the following reactions prevails in

RBC travelling through pulmonary capillaries?

A H,CO; — H* + HCO;


https://dl.doubtnut.com/l/_zhGKUbtdvnGI
https://dl.doubtnut.com/l/_jsxcVGLsOjIF

C. Hb(02)4 — Hb + 402

D. Hby + 40, — Hby(0,),

Answer: D

° Watch Video Solution

18. In the nostril the air is

A. filtered

B. warmed

C. moistened


https://dl.doubtnut.com/l/_jsxcVGLsOjIF
https://dl.doubtnut.com/l/_pc9C1IhTwIOE

D. all of the above

Answer: D

° Watch Video Solution

19. Which of the following is not a respiratory

exchange surface?

A. skin of amphibians

B. alveoli of mammals

C. gills of larvalamphibians


https://dl.doubtnut.com/l/_pc9C1IhTwIOE
https://dl.doubtnut.com/l/_KhDD7ILzgtTP

D. air sacs of birds

Answer: D

° Watch Video Solution

20. When C'O5 binds to Haemoglobin, which

of the following compounds is formed?

A. carbaminohaemoglobin

B. oxyhaemoglobin

C. hydrogencarbonate


https://dl.doubtnut.com/l/_KhDD7ILzgtTP
https://dl.doubtnut.com/l/_zwJ8MzryubyZ

D. carbonic acid

Answer: A

o Watch Video Solution

21. Haemoglobin has maximum affinity for

A.CO
B. CO,
C. Oy

D. N,


https://dl.doubtnut.com/l/_zwJ8MzryubyZ
https://dl.doubtnut.com/l/_eGGXVNYEXxge

Answer: A

o Watch Video Solution

22. Which of the following causes a rightward

shift in the O2 dissociation curve?

A.an  increase in  hydrogen ion

concentration

B. a decrease in pH

C. increased C'O, concentration


https://dl.doubtnut.com/l/_eGGXVNYEXxge
https://dl.doubtnut.com/l/_zIVqfinlh3v1

D. all of the above

Answer: D

° Watch Video Solution

23. Compared to a human, a diving mammal of

equal size has

A. larger lungs

B. a larger spleen

C.less O, stored in blood


https://dl.doubtnut.com/l/_zIVqfinlh3v1
https://dl.doubtnut.com/l/_gPnkj7cfxqiT

D. less blood, an adaptation that helps to

conserve O,

Answer: B

o Watch Video Solution

24. The maximum volume of air forcefully
exhaled after taking the deepest possible

breath is called

A. residual volume


https://dl.doubtnut.com/l/_gPnkj7cfxqiT
https://dl.doubtnut.com/l/_HF42MKTK2N89

B. total respiratory volume

C. vital capacity

D. tidal volume

Answer: C

o Watch Video Solution

25. Compared to the interstitial fluid that
bathes active muscle cells, blood reaching that

tissue in arteries has a


https://dl.doubtnut.com/l/_HF42MKTK2N89
https://dl.doubtnut.com/l/_028SeFs4CIfs

A. higher Pgp,

B. lower pH

C. higher Py,

D. greter hydrogencarbonate

concentration

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_028SeFs4CIfs

26. After (O, diffusion into

capillaries, it diffuses into

A. RBC, haemoglobin

B.RBC, CO,

C. interstitis| fluid, CO,

D. interstitial fluid, RBC

Answer: A

pulmonary

and binds

o Watch Video Solution



https://dl.doubtnut.com/l/_1bQHOaz2AXSH

27. A decrease in the pH of human blood

would

A. increase heart rate

B. decrease breathing rate

C. decrease cardic output

D. decrease the amount of O, unloaded

from haemoglobin

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_5yrPF1XT6YOI

28. Which of the following is not a means by

which Oy and/or C'O, is/are transported in

the bloodstream of vertebrates?

A. in solution in the plasma

B. erythropoietin

C. as hydrogencarbonate ions

D. as oxyhaemoglobin

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5yrPF1XT6YOI
https://dl.doubtnut.com/l/_UDOwoR6rDxxQ

29. In human lungs, gas exchange occurs at

the

A. alveolar sacs

B. pleural sacs

C. two bronchi

D. both (a) and (b)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UDOwoR6rDxxQ
https://dl.doubtnut.com/l/_alaNSd4jxSyE

30. The lung is enclosed in a double layered

membrane called

A. pleura

B. perichondrium

C. pericardium

D. periosteum

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NefaLag8VbAu
https://dl.doubtnut.com/l/_BjIZmHq0sVpQ

31. the respiratory centre in the brain which
regulation the process of respiration in

extremely sensitive to blood concentrations of

A. O,

B. oxyhaemoglobin

C.CO,

D. hydrogencarbonates

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BjIZmHq0sVpQ
https://dl.doubtnut.com/l/_KhrQmOjN9zkg

32. The is an airway that connects the

nose and mouth with the

A. trachea, pharynx

B. phaynx, larynx

C. oral cavity, larynx

D. pharynx, trachea

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KhrQmOjN9zkg

33. With the increase in temperature, the

respiratory rate will

A. Increase

B. remain unaffected

C. decrease rapidly

D. decrease slowly

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5REPUoBMbkeo
https://dl.doubtnut.com/l/_D5Nm9OM6yJeh

34. Which one of the following can respire in

the total absence of air?

A. leucosolenia

B. taenia solium

C. cockroach

D. amoeba

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_D5Nm9OM6yJeh

35. Which of the following tissues is most

affected due to the deficiency of O4y?

A. visceral muscles

B.long bones

C. cardiac muscles

D. hyaline cartilage

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2tql8bt5ZbXw
https://dl.doubtnut.com/l/_FmaQOgYf56YK

36. Which of the following respiratory system

is not closely associated with a blood supply?

A. fish gills

B. outer skin of earthworm

C. vertebrte lungs

D. tracheal systems of insects

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_FmaQOgYf56YK

37.The respiratory mechanism is controlled by

the

A. sympathetic nervous system

B. peripheral nervous system

C. central nervous system

D. parasympathetic nervous system

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bnZbURBZfkHX
https://dl.doubtnut.com/l/_9evPftTvFSkx

38. In which of the following groups of animals

the lungs are relatively non-elastic and are

connected with elastic air - sacs?

A. reptiles

B. birds

C. amphibinas

D. mammals

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9evPftTvFSkx
https://dl.doubtnut.com/l/_hCRbjOomieiK

39. In negative pressure breathing, inhalation

results from

A. contracting the diaphagm

B. contracting the abdominal muscles

C.forcing air from the throat down into

the lungs

D. relaxing the muscles of the rib cage

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hCRbjOomieiK

40. Breathing rate in mammals is controlled by

a part of the brain called

A. medulla oblongata

B. cerebrum

C. hypothalamus

D. cerebellum

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nbZ1lHPRFTIF
https://dl.doubtnut.com/l/_nwQXZvIQC0in

41. Alveoli increase the surface area of the

human lung which is approximately the size of

A.dining table

B. small bawl

C. tennis court

D. dinner plate

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_nwQXZvIQC0in
https://dl.doubtnut.com/l/_HLPzsQJ29JIL

42. The process of moving air or water across

the gas - exchange surface of animal is known

as

A. active respiration

B. countercurrent exchange

C. ventilation

D. facilitated diffusion

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HLPzsQJ29JIL

43. The largest quantity of air that can be

exhaled after a maximal inspiratory effort is

A. tidal volume

B. total lung capacity

C. vital capacity

D. residual volume

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jXRYkgM4MIJr
https://dl.doubtnut.com/l/_P2PDk87eKECR

44. Even when there is no air in it, human

traches does not collapse due to the presence

of

A. chitinous rings

B. turgid pressure

C.bony rings

D. cartilaginous rings

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_P2PDk87eKECR
https://dl.doubtnut.com/l/_UjxJx2HoWe4X

45. If CO, concentration in the blood

increases the breathing will

A. decrease

B. remain unaffected

C.increase

D. stop

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_UjxJx2HoWe4X

46. The Adam's apple is formed predominantly

by which of the following structure?

A. larynx

B. bronchi

C. pharynx

D. oesophagus

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mPpwnIkAtnzo
https://dl.doubtnut.com/l/_HSUfvSbvqM8o

47.The structure which does not contribute to

breathing movements in mammals is

A. larynx

B. ribs

C. abdominal muscles

D. diaphragm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HSUfvSbvqM8o

48. Which of the following constitutes the

wind pipe or the upper four inches of the

airway?

A. pharynx

B. bronchi

C. trachea

D. larynx

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dyEDMWZhcEte

49. Which of the following organs lines the
mucous membrane and helps filtering and
elimination of particles?

A. alveoli

B. cilia

C. bronchi

D. villi

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Vg9rWGY9h8UK

50. What is the synovial membrane which

protects lungs from

abdominal wall?

A. alveolar septum

B. tracheal bifurcation

C. mesentery

D. pleura

Answer: D

friction

against

o Watch Video Solution



https://dl.doubtnut.com/l/_fmb6hentePPP

51. Which of the following gases froms the

most stable compound with haemoglobin as

erythrocytes?

A.CO,

B.CO

C. N,y

D. O,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jctOxRT7SO2Q

52. In which of the following forms CO, is

mostly carried in blood?

A. carbonic acid

B. carbaminohaemoglobin

C.carbonate ions

D. hydrogen carbonate ions

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AKD3bdm7vpt4
https://dl.doubtnut.com/l/_A0Dmm2WKv3Eh

53. What are the two large branches of the

airway which lead off the traches at the

tracheal bifurcation?

A. bronchi

B. alveoli

C. bronchiole

D. larynx

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_A0Dmm2WKv3Eh
https://dl.doubtnut.com/l/_6G0ktCmF2Ju5

54. During strenuous muscular activity,
hydrogen atoms removed from sugar

molecules are accepted temporarily by

A. pyruvate, lactic acid

B.O,, CO,

C. O,, water

D. myoglobin , carbaminohaemoglobin

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6G0ktCmF2Ju5

55. The common part of respiratory and

digestive system is

A. nasopharynx

B. oropharynx

C. laryngopharynx

D. oesophagus

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6G0ktCmF2Ju5
https://dl.doubtnut.com/l/_VyvVLCpfiv0o

56. The value of ventilation perfusion

ratio is

A. 0.6

B.0.2

C.038

D.04

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8zWEUnHr9oau
https://dl.doubtnut.com/l/_FpWb0XScSO3I

57. The alveoli of lungs is formed of

A. Squamous epithelum

B. Columnar epithelium

C. Cubical epithelium

D. Ciliated epithelium

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FpWb0XScSO3I

58. The total number of alveoli in both the

lungs is
A. 600 million
B. 650 million
C. 750 million
D. 800 million
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_a0fO0XvujLeM
https://dl.doubtnut.com/l/_F2mdg5z7oVw7

59.The length of right primay bronchi is

A.3.5cm

B.2 cm

C.25acm

D.3.0cm

Answer: C

° Watch Video Solution

60. The diameter of each bronchiole is


https://dl.doubtnut.com/l/_F2mdg5z7oVw7
https://dl.doubtnut.com/l/_jnyflvDqzccm

A. 0.5 mm

B.1T mm

C.1.5 mm

D.2 mm

Answer: B

° Watch Video Solution

61. One of the following that takes part in

forced inspiration is


https://dl.doubtnut.com/l/_jnyflvDqzccm
https://dl.doubtnut.com/l/_31zeloodDFf7

A. diaphragm

B. thoracic ribs

C. external intercostal muscle

D. abdominal muscle

Answer: D

o Watch Video Solution

62. The respiratory capacity of a man is

determined by measuring the volume of


https://dl.doubtnut.com/l/_31zeloodDFf7
https://dl.doubtnut.com/l/_ryP1XMQ4cRng

A. tidal air

B. residual air

C. vital capacity

D. total lung capacity

Answer: C

° Watch Video Solution

63. The amount of CO, in inspired air is

A.5.5%


https://dl.doubtnut.com/l/_ryP1XMQ4cRng
https://dl.doubtnut.com/l/_S5wxk7y1jIYW

B.2.5 %

C.0.04 %

D.0.4%

Answer: C

o Watch Video Solution

64. The air in the physiological dead space
does not take part in gaseous exchange

because this space does not contain


https://dl.doubtnut.com/l/_S5wxk7y1jIYW
https://dl.doubtnut.com/l/_mX5uisfULuW6

A. alveoli

B. blood capaillary

C. alveoli and capillary

D. more O, and CO,

Answer: B

o Watch Video Solution

65. Acclimatisation occurs at a height of

A. 8000 ft


https://dl.doubtnut.com/l/_mX5uisfULuW6
https://dl.doubtnut.com/l/_Hux6oFQOBAVW

B. 10000 ft

C. 14000 ft

D. 18000 ft

Answer: C

o Watch Video Solution

66. Smoking is not related to

A. bronchitis

B. asthma


https://dl.doubtnut.com/l/_Hux6oFQOBAVW
https://dl.doubtnut.com/l/_Jp0nCAvJuNWX

C. pleurisy

D. emphysema

Answer: C

° Watch Video Solution

67. In which of the following diseases vital

capacity is reduced?

A. typhoid

B. encephalitis


https://dl.doubtnut.com/l/_Jp0nCAvJuNWX
https://dl.doubtnut.com/l/_03rncIQ1URTF

C. tuberculosis

D. intenstinal pain

Answer: C

° Watch Video Solution

68. The amount of O, in alveolar air is

A.16.4 %

B.20.94 %

C.5.6 %


https://dl.doubtnut.com/l/_03rncIQ1URTF
https://dl.doubtnut.com/l/_GVsO87DIYtk1

D.14 %

Answer: D

° Watch Video Solution

69. One that is the correct equations for the

calculation of Total Lung Capacity (TLC) is

A.TLC = Vital Capacity (VC) + Residual

Volume (RV)


https://dl.doubtnut.com/l/_GVsO87DIYtk1
https://dl.doubtnut.com/l/_WvOAM4nHNk6z

B. TLC = Inspiratory Reserve Volume (IRV) +

RV

C. TLC=VC+ IRV

D.TLC = RV + Expiratory Reserve Volume

(ERV)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WvOAM4nHNk6z

70. Strong inspiratory efforts reduce

intrapleural pressure to values as low as

A.—20 mm Hg

B. -30" mm Hg"

C.—10 mm Hg

D. —15 mm Hg

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9Xw40HZYjowX
https://dl.doubtnut.com/l/_2i04cgvQgOni

71. A person is suffering from frequent

eipsodes of nasal discharge, nasal congestion,

reddening of eyes and watery eyes. These are

the symptoms of

A. rhinitis

B. bronchial carcinoma

C. cyanosis

D. bronchitis

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2i04cgvQgOni

72. Chloride shift is called

A. Co - toxicity

B. Haldane effect

C. Bohr effect

D. Hamburger phenomenon

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_2i04cgvQgOni
https://dl.doubtnut.com/l/_OGdHNrYyXIfK

73.In Na™ — K Pump of active transport

there is

A.influx of Na™ and efflux of K
B. eflux of Na™ and influxof K

C.influx and efflux of Na™ only

D. only efflux of Na ™

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1NLsV6txmGLS
https://dl.doubtnut.com/l/_o3IuX05Cu7dU

74. Acetyl CoA is produced from pyruvate by

A. oxidative phosphorespiration

B. oxidative decarboxylation

C. oxdative phosphorylation

D. oxidative hydrogenation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_o3IuX05Cu7dU

75. The exchange of material between blood

and interstitial fluid is by

A. capillaries

B. arterioles

C. veins

D. arteries

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hc5vXcdTLPO4
https://dl.doubtnut.com/l/_Nf3VGvFqDlGW

76. Last electron acceptor in ETS is

A. water

B. cytochrome ag

C. O,

D. cytochrome C

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Nf3VGvFqDlGW

77. Direct ATP yield of aerobic respiration

during Krebs cycle per glucose molecule is

A. 36 ATP molecules

B. 138 ATP molecules

C. 2 ATP molecules

D. 8 ATP molecules

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1TrUKXyS8pkc
https://dl.doubtnut.com/l/_2QuSsNWRXZY4

78. The exchange of gases between blood

capillaries and alveoli in the lung is through

A. facilitated diffusion

B. osmosis

C. simple diffusion

D. active transport

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2QuSsNWRXZY4

79. Crocodile and penguin are similar to whale
and dogfish in which one of the following
features?

A. lay eggs and guard them till they hatch

B. have 4 chamber heart

C. possess a solid single stranded central

nervous system

D. possess bony skeleton

Answer: B

Y. I


https://dl.doubtnut.com/l/_rCVffuWkd0jG

[ @ VWatch vVideo Solution ]

80. The energy - releasing metabolic process in

which substrate is oxidised without an

external electron acceptor is called

A. fermentation

B. aerobic respiration

C. photorespiration

D. glycolysis

Answer: A



https://dl.doubtnut.com/l/_rCVffuWkd0jG
https://dl.doubtnut.com/l/_XOuEB3nVulih

Watch Video Solution

81. Bulk of carbon dioxide (CO,) released
from body tissues into the blood is present as
A. free C'O, in blood plasma
B.70 % carbamino - haemoglobin in RBCs
C. carbamino - haemoglobin in RBCs

D. bicarbonate in blood plasma and RBCs

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_XOuEB3nVulih
https://dl.doubtnut.com/l/_vy3hTXTxux1q

82. Two friends are eating together on a
during table. One of them suddenly starts
coughing while swallowing some food. This
coughing would have beeen due to improper
movement of

A. neck

B. epiglottis

C.tongue

D. diaphragm


https://dl.doubtnut.com/l/_vy3hTXTxux1q
https://dl.doubtnut.com/l/_5SRPD7Lh97hP

Answer: B

o Watch Video Solution

8. Which of the following minerals activate

the enzymes involved in respiration?

A. copper and boron

B. potassium and calcium

C. magnesium and manganese

D. sulphur and iron


https://dl.doubtnut.com/l/_5SRPD7Lh97hP
https://dl.doubtnut.com/l/_ctOxVqTld52z

Answer: C

o Watch Video Solution

84. Common cold differs from pneumonia in,

that :

A. pneumonia is caused by a virus while the

common cold is caused by the bacterium

Haemophilus influenzae


https://dl.doubtnut.com/l/_ctOxVqTld52z
https://dl.doubtnut.com/l/_FQK8pNyYsP5Q

B. pneumonia pathogen infects alveoli

whereas the common cold affects nose

and respiratory passage but not the

lungs

C.pneumonia is a communicable disease

whereas the common «cold is a

nutritional deficiency disease

D. pneumonia can be prevented by a live

attenuated bacterial veccine whereas


https://dl.doubtnut.com/l/_FQK8pNyYsP5Q

the common cold has no effective

vaccine

Answer: B

o Watch Video Solution

85. Which one of the following is the correct

statement for respiration in humans?

A. workers in grinding and stone - breaking

industries may suffer, from lung fibrosis


https://dl.doubtnut.com/l/_FQK8pNyYsP5Q
https://dl.doubtnut.com/l/_JU9oFyHo2ynA

B. about 90 % of carbon dioxide (CO,) is
carried by haemoglobin as
carbaminohaemoglobin

C.cigarette smoking may lead to
inflammation of bronchi

D. neutral signals from pneumotoxic centre
Is pons region of brain can increase the

duration of inspiration.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JU9oFyHo2ynA

86. When the oxygen supply to the tissue is

inadequate, the condition is

A. dyspnea

B. hypoxia

C. asphyxia

D. apnea

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JU9oFyHo2ynA
https://dl.doubtnut.com/l/_F38aRMjEqkfo

87. The serous membrane which covers the

lungs is called

A. pericardium

B. peritoneus

C. perichondrium

D. pleura

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HXCVlqReTuUI
https://dl.doubtnut.com/l/_sm7UE1T1YcaE

88. The structure which prevents the entry of

food particles into the respiratory passage is

A. epiglottis

B. glottis

C. larynx

D. pharynx

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_sm7UE1T1YcaE

89. When you hold your breath, which of the

following gas change in blood would first lead

to the urge to breathe?

A. falling Oy concentration

B. rising C'O5 concentration

C. falling CO5 concentration

D. rising C'O, and falling O, concentration

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_F5agr8EtCAoU

90. The partial pressure of oxygen in the

alveoli to the lungs is

A. Less than that of CO,

B. Equal to that in the blood

C. More than that in the blood

D. Less than that in the blood.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YUukyaXRi4co
https://dl.doubtnut.com/l/_hkT7mZvQacgt

91. Lungs do not collapse between breaths and

some air always remains in the lungs, which

can never be expelled because

A. Pressure in the lungs is higher than the

atmospheric pressure

B. There is a negetive pressure in lungs

C.There is a negetive intrapleural pressure

pulling at the lung walls

D. There is a positive intrapleural pressure

Answer: C


https://dl.doubtnut.com/l/_hkT7mZvQacgt

° Watch Video Solution

92. Name of the common respiratory disorder

caused mainly by cigarette smoking

A. Asthma

B. Respiratory acidosis

C. Respiratory alkalosis

D. Emphysema

Answer: D

| 8 l


https://dl.doubtnut.com/l/_hkT7mZvQacgt
https://dl.doubtnut.com/l/_HghRH7JF7DAO

93. Asthma may be attributed to

A. Allergic reaction of the mast cells in the

lungs

B. Inflammation of the trachea

C. Accumulation of fluid in the lungs

D. Bacterial infection of lungs

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HghRH7JF7DAO
https://dl.doubtnut.com/l/_QokHcXZTAXUk

94. Reduction in pH of blood will

A. Reduce the blood supply to the brain

B. Decrease the affinity of haemoglobin

with oxygen

C. Release bicarbonate ions by the liver

D. Reduce the rate of heart beat

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QokHcXZTAXUk
https://dl.doubtnut.com/l/_Aoip6Nq7T58l

95. Which of the following is the disorder of

respiratory system?

A. Emphysema

B. Asthma

C. Both (a) + (b)

D. Angina pectoris

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Aoip6Nq7T58l
https://dl.doubtnut.com/l/_wpq2htEpswJI

96. Lungs are made up of air filled sacs the

alveoli. They do not collapse even after

forceful expiration because of

A. Inspiratory Reserve Volume

B. Tidal volume

C. Expiratory Reserve volume

D. Residual volume

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1oqZwI8nNvDF

B Choose More Than One Options

1. Which of the following statement are true ?

A.The partial pressure of oxygen in
deoxygeneted blood is 40 mm Hg.

B.The partial pressure of oxygen in
oxygeneted blood is 95 mm Hg.

C.The partial pressure of CO, in the

alveolar air is 40 mm Hg.


https://dl.doubtnut.com/l/_tfAaZykt7lXl

D.Only 95 % of Haemoglobin is available

for O, carriage

Answer: A::B::D

° Watch Video Solution

2. What is pneumonia?

° Watch Video Solution

3. Which of the following statements are true?


https://dl.doubtnut.com/l/_tfAaZykt7lXl
https://dl.doubtnut.com/l/_p183LrIldn8u
https://dl.doubtnut.com/l/_uv3tofglXw1N

A.Inspiratory capacity (IC) = TV + IRV

B. Expiratory reserve volume
(ERV) =EC —-TV

C. Vital capacity (VC) = IC + ERV

D. Residual volume (RV) = TLC — VC

Answer: A::B::D

o Watch Video Solution

4. Which of the following are not correct?


https://dl.doubtnut.com/l/_uv3tofglXw1N
https://dl.doubtnut.com/l/_MwLkVvycjue4

A. Respiratory centres are not affected by

C O, concentration

B. During inspiration lungs work as Suction

Jump

C. Haemoglobin is dark red whereas

oxyhaemoglobin is bright red in colour

D. The vital capacity of healthy person is

1000 ml.

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_MwLkVvycjue4

5. What are the symptoms of altitude

sickness?

° Watch Video Solution

6. Which of the following are correctly match?

o Watch Video Solution



https://dl.doubtnut.com/l/_MwLkVvycjue4
https://dl.doubtnut.com/l/_Z6I6eHrPrIes
https://dl.doubtnut.com/l/_UKDBLEJ60rFI

7. Mark the correct statements

A.Hearing - Breuer's reflex prevents the

over expansion of lungs

B. Oxygen dissociation curve for foetal

heamoglobin is on the left side with

respect to maternal heamoglobin

C.When pneumotoxic centre transmits

strong signal then inspiration time

become shorter


https://dl.doubtnut.com/l/_8CxD9NjcctaM

D. The rate of breathing is 16-18 times per

minute per adult

Answer: A::B::D

o Watch Video Solution

8. Which of the following statements are true

for human ?

A. Forceful expiration is an active process


https://dl.doubtnut.com/l/_8CxD9NjcctaM
https://dl.doubtnut.com/l/_fbOiKFsRV0Ja

B. Mammals have negative pressure

breathing

C. Respiration excretes CO5, H5O etc.

D.one can easily breath in and out by

moving the diaphragm along without

moving the ribs at all

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_fbOiKFsRV0Ja

9. Which at the following pairs are correct?

A. Tidal Volume — 500 ml

B. Vital capacity — 4500 — 4800 ml

C. Total Lung capacity — 5000 ml

D. Expiratory capacity — 1500 ml

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_Bz9b3NsjOdOC

10. Which of the following statements are

correct?

A.insects circulating body fluids serve to

distrubute oxygen to tissues

B. The principle of counter current flow

facilitates efficient respiration in gill of

fishes

C. The presence of non-respiratory air sacs,

increases the efficiency of respiration in


https://dl.doubtnut.com/l/_U36FBSlafPqR

birds

D. Myocardial chemoreceptors produce

Bazold, Jarisch reflex.

Answer: A::C::D

o Watch Video Solution

11. Which of the following statement are true

about left lung?

A. Left lung has two lobes and one fissure


https://dl.doubtnut.com/l/_U36FBSlafPqR
https://dl.doubtnut.com/l/_6eXVx4ESsAUa

B. cardiac notch is present

C. it is wider than right lung

D. weighs about 600 gm

Answer: A::B::D

o Watch Video Solution

12. Which of the following statements are true

?


https://dl.doubtnut.com/l/_6eXVx4ESsAUa
https://dl.doubtnut.com/l/_3V4uGKYRUxHw

A. Oxygen debt - After a muscular exertion,

the amount of O, needed to restore the

body to a steady state

B. Respiratory Quotient (RQ) - The ratio of

volume of CQO, released and O,

consumed during a given period of

respiration

C. Vital capacity - During normal breathing

the air which is inspired and expired


https://dl.doubtnut.com/l/_3V4uGKYRUxHw

D.Kiss of life - The process of artificial

respiration in which the rescuer blows

air into the victim's lung's by mouth to

mouth contact

Answer: A::B::D

o Watch Video Solution

13. Which of the following statements are true

?


https://dl.doubtnut.com/l/_3V4uGKYRUxHw
https://dl.doubtnut.com/l/_cSOX4SPAp18L

A. The blood transport CO, comparatively

easily because of its higher solubility

B. Approximately  8.9% of CO, is

transported being dissolved in the

plasma of blood

C.The chloride ions diffuse from Plasma

into the RBC to maintain ionic balance

D. The oxyhaemoglobin of the RBC is basic

in nature

Answer: A::C


https://dl.doubtnut.com/l/_cSOX4SPAp18L

° Watch Video Solution

C Fill In The Blanks

1. The internal intercostal muscles contract

during

o Watch Video Solution

2. The maximum volume of inspirable air is

called



https://dl.doubtnut.com/l/_cSOX4SPAp18L
https://dl.doubtnut.com/l/_igN8KPCq5Eym
https://dl.doubtnut.com/l/_gkqGPVBpTCPv

o Watch Video Solution

3. The metal associated with haemoglobin

protein is

o Watch Video Solution

4. Conditioning of inspiratory air occurs in

° Watch Video Solution



https://dl.doubtnut.com/l/_gkqGPVBpTCPv
https://dl.doubtnut.com/l/_acTvrefk0BbO
https://dl.doubtnut.com/l/_AVLDG8wEDP3P
https://dl.doubtnut.com/l/_1cY1eBaBKxCc

5. Lungs are covered with the covering of

o Watch Video Solution

6. In lungs, the inspired air ultimately reaches

to

o Watch Video Solution

7. Vital capacity of normal adult person is

about to litres.



https://dl.doubtnut.com/l/_1cY1eBaBKxCc
https://dl.doubtnut.com/l/_Z0NjiFfor0JP
https://dl.doubtnut.com/l/_rRdRrVImvWLg

° Watch Video Solution

8. The pulmonary respiration takes place

through

o Watch Video Solution

9. Glottis is closed during swallowing of food

bolus by

° Watch Video Solution



https://dl.doubtnut.com/l/_rRdRrVImvWLg
https://dl.doubtnut.com/l/_nOFxfKDM9Dnj
https://dl.doubtnut.com/l/_JCFnrscKE1Mq
https://dl.doubtnut.com/l/_z5cIbPXmj5Kl

10. The larynx opens into the pharynx through

a slit-like opening called the

o Watch Video Solution

11. The respiratory tract is lined internally with

a epithelium.

° Watch Video Solution



https://dl.doubtnut.com/l/_z5cIbPXmj5Kl
https://dl.doubtnut.com/l/_l6yqnk2Acqr3

12. Diaphragm contracts to help in

while the con- traction of abdominal muscles

helps in

o Watch Video Solution

13. In human, trachea is strengthened by

incomplete rings.

° Watch Video Solution



https://dl.doubtnut.com/l/_OimwTbejVQsm
https://dl.doubtnut.com/l/_rDpGaIVtUNsO

14. Sound is produced by vibrations of

located in the

o Watch Video Solution

15. In the lungs the simple squamous non-

ciliated epithelium is found in

o Watch Video Solution



https://dl.doubtnut.com/l/_9laGsPKSPK2m
https://dl.doubtnut.com/l/_lIH9g6DkeZFD

16. The impulse for voluntary muscles during

forced breathing starts in

° Watch Video Solution

17. Lungs lie in the thoracic cavity separated by

from the abdominal cavity.

o Watch Video Solution



https://dl.doubtnut.com/l/_HKnM4GY1mk29
https://dl.doubtnut.com/l/_Nkui3XYm6yo5

18. Inflammation in the outer covering of lungs

is known as

o Watch Video Solution

19. Alveolar Pp, is than the venous Pp, .

o Watch Video Solution

20. Arterial Py, is than the alveolar Py,.

o Watch Video Solution



https://dl.doubtnut.com/l/_3VXVPP2DjeS2
https://dl.doubtnut.com/l/_5EoGxkFVb0jz
https://dl.doubtnut.com/l/_9V4u7hh8voJq

21. The most characteristic feature of
haemoglobin is its ability to combine

reversibly with

° Watch Video Solution

22. The exchange of COy and Oy between
atmospheric air and blood of lung alveoli is

called respiration.

° Watch Video Solution



https://dl.doubtnut.com/l/_9V4u7hh8voJq
https://dl.doubtnut.com/l/_JbVQfKg7v407
https://dl.doubtnut.com/l/_CRvzBu9CwZLm

23. After deep inspiration, capacity of

maximum expiration of lungs is known as

o Watch Video Solution

24. Each haemoglobin molecule can carry

molecules of oxygen.

o Watch Video Solution



https://dl.doubtnut.com/l/_CRvzBu9CwZLm
https://dl.doubtnut.com/l/_essl0N5oYrtW
https://dl.doubtnut.com/l/_V9E13FNstf5e
https://dl.doubtnut.com/l/_Zs7i3Rm3LjvW

25, , is a lipid surface tension lowering

agent in the respiratory system.

o Watch Video Solution

D True Or False Statement Questions

1. Vital capacity defines the maximum capacity

to ventilate lungs.

° Watch Video Solution



https://dl.doubtnut.com/l/_Zs7i3Rm3LjvW
https://dl.doubtnut.com/l/_UJtYRgtPE4Kq

2.The energy carrying compound in living cells

is ATP.

o Watch Video Solution

3. Forceful contraction of diaphragm causes

forceful expiration.

o Watch Video Solution



https://dl.doubtnut.com/l/_py6tzK9udDdS
https://dl.doubtnut.com/l/_wmP1nGjC3lut

4. Major amount of carbon dioxide (CO,)
from the tissues is transported to lungs in the

form of hydrogencarbonates.

o Watch Video Solution

5. The regulatory centre of respiration is

situated in the cerebral cortex.

° Watch Video Solution



https://dl.doubtnut.com/l/_aDjOPRZcKcS6
https://dl.doubtnut.com/l/_Ix9zqIZC10Jo

6. A normal human respires 70-80 times per

minute.

o Watch Video Solution

7. Smaller the animal, the higher will be its

respiratory rate.

o Watch Video Solution



https://dl.doubtnut.com/l/_SSNmjsDnxJTO
https://dl.doubtnut.com/l/_QTUeNVHvlOJ3

8. A person can expel all the air from lungs

through forceful expiration.

° Watch Video Solution

9. The condition where the body suffers from

acute oxy- gen shortage is called hypoxia.

o Watch Video Solution



https://dl.doubtnut.com/l/_PTLzNJfNGbCY
https://dl.doubtnut.com/l/_FV9HZxGwMeyx

10. The affinity of haemoglobin for carbon

monoxide is more than that of oxygen.

° Watch Video Solution

11. Lungs are totally emptied and refilled with

fresh air during breathing.

o Watch Video Solution



https://dl.doubtnut.com/l/_tPi9GLTPcCyR
https://dl.doubtnut.com/l/_uP7t1B4H3c58

12. Respiratory organs of insects are known as

tracheoles.

o Watch Video Solution

13. Earthworm shows cutaneous type of

respiration.

o Watch Video Solution



https://dl.doubtnut.com/l/_3EXTb9xWyH7h
https://dl.doubtnut.com/l/_wGdZxYfp6Zgf

14. Yeast does not provide any help in the

biofermenta- tion process.

o Watch Video Solution

15. Define Tidal Volume

o Watch Video Solution

16. 8 molecules of oxygen can associated with

one molecule of haemoglobin.



https://dl.doubtnut.com/l/_Q07kHvHpHtLn
https://dl.doubtnut.com/l/_B5a7gxocl4L7
https://dl.doubtnut.com/l/_gxfrwnqZB419

o Watch Video Solution

17. Define tidal volume

o Watch Video Solution

18. RBC of venous blood contains more

chloride .

o Watch Video Solution



https://dl.doubtnut.com/l/_gxfrwnqZB419
https://dl.doubtnut.com/l/_IpcldYZmqILD
https://dl.doubtnut.com/l/_SODziEqHvABQ

19. Smoking can lead to respiratory disorder

like emphy-sema.

o Watch Video Solution

20. Coal workers always suffers from black

lung disease.

o Watch Video Solution

Very Short Answer Type Questions


https://dl.doubtnut.com/l/_haQchj2hMTAB
https://dl.doubtnut.com/l/_4M8iLWtxuuQb
https://dl.doubtnut.com/l/_92Lx8GwBIaBW

1. Which structures are part of conducting

portion of the respiratory system?

o Watch Video Solution

2. How many lobes & secondary bronchi are

present in each lung?

° Watch Video Solution



https://dl.doubtnut.com/l/_92Lx8GwBIaBW
https://dl.doubtnut.com/l/_ZUyQF8AtNf9w

3. Name the enzyme which acts on carbonic

acid in living cells.

o Watch Video Solution

4. Name the particular kind of tissue which

lines the inner surfaces of bronchioles.

o Watch Video Solution



https://dl.doubtnut.com/l/_pfnNRnFOsSPs
https://dl.doubtnut.com/l/_l6ziRHrovBBP

5. Name the structure which contains vocal

cords.

o Watch Video Solution

6. Why are the right and left lungs slightly

different in shape?

o Watch Video Solution

7.What is expiratory capacity?



https://dl.doubtnut.com/l/_xG4HDDfKkZQ9
https://dl.doubtnut.com/l/_kQfp37Zu4lhx
https://dl.doubtnut.com/l/_X5N4BB4XZ4qI

o Watch Video Solution

8. Which respiratory muscles are used in

inspiration?

o Watch Video Solution

9. What is the normal arterial blood P, ?

o Watch Video Solution



https://dl.doubtnut.com/l/_X5N4BB4XZ4qI
https://dl.doubtnut.com/l/_HxOzZLkK63ef
https://dl.doubtnut.com/l/_HnZI5LYkZwKb

10. How many molecules of O5 can transport

one haemoglobin molecule?

° Watch Video Solution

11. How does the epiglottis prevent foods and

liquids from entering the larynx?

o Watch Video Solution

12. Name the organ that produces sound.



https://dl.doubtnut.com/l/_kNUviTGy3GQH
https://dl.doubtnut.com/l/_53eGTnU3386X
https://dl.doubtnut.com/l/_ySagbMRvOROf

o Watch Video Solution

13. Why do erythrocytes perform anaerobic

respiration only?

o Watch Video Solution

14. Write the chemical reaction which is

catalysed by the enzyme carbonic anhydrase.

o Watch Video Solution



https://dl.doubtnut.com/l/_ySagbMRvOROf
https://dl.doubtnut.com/l/_u8CkocGeQ7UZ
https://dl.doubtnut.com/l/_6XRN4qnS5yay
https://dl.doubtnut.com/l/_JxpC7zymlF9y

15. What term is used for volume of air
breathed in and out during each normal

effortless respiration?

o Watch Video Solution

16. What is residual volume?

o Watch Video Solution



https://dl.doubtnut.com/l/_JxpC7zymlF9y
https://dl.doubtnut.com/l/_RtW65qr0g9EZ

17. What is the value of residual volume in

normal human adult ?

o Watch Video Solution

18. What is the path taken by air molecules

into and through the nose ?

o Watch Video Solution



https://dl.doubtnut.com/l/_1L9oUy0VG4mb
https://dl.doubtnut.com/l/_yF6EnRVCqM3h

19. Name the structure where inspired air is

conditioned in human.

° Watch Video Solution

20. If anyone holds his/her breath for 30

seconds, what will happen to his/her blood pH

?

° Watch Video Solution



https://dl.doubtnut.com/l/_LFHb2UVtxT7o
https://dl.doubtnut.com/l/_OvpSj7Bt3tNL

21. Write the full form : ERV

o Watch Video Solution

22. Name the structure which separates nasal

chambers and buccal cavity.

° Watch Video Solution

23. How many molecules of oxygen can

associate with a molecule of haemoglobin in


https://dl.doubtnut.com/l/_NO45mOkXMPDz
https://dl.doubtnut.com/l/_JuUNvTLqt8Hi
https://dl.doubtnut.com/l/_VeQeZ03U6xEn

man?

o Watch Video Solution

24. What is the normal value of tidal volume

and total lung capacity in human?

° Watch Video Solution

25. What is inspiratory capacity?

° Watch Video Solution



https://dl.doubtnut.com/l/_VeQeZ03U6xEn
https://dl.doubtnut.com/l/_1PjKBNlQiSyM
https://dl.doubtnut.com/l/_DOOWbiixJmZu

26. Which nerves carry impulses from the

respiratory center to diaphragm?

° Watch Video Solution

27. Which nerves carry impulses from the
respiratory center to the external intercostal

muscles?

° Watch Video Solution



https://dl.doubtnut.com/l/_bZy7GVspvO6A
https://dl.doubtnut.com/l/_7IuPkuPQmVBh

28. What causes O, to enter pulmonary
capillaries from alveoli and to enter tissue

cells from systemic capillaries?

o Watch Video Solution

29. What are the average values of the
following in a normal adult man : (i) Arterial

Py, (ii) venous Py, (iii) vital capacity ?

o Watch Video Solution



https://dl.doubtnut.com/l/_VncqTVApYBOL
https://dl.doubtnut.com/l/_oaKgFQVlbYMZ
https://dl.doubtnut.com/l/_btewhgwsij5A

30. What is Adam’s apple ?

o Watch Video Solution

31. Why trachea does not collapse?

o Watch Video Solution

32. Which lung (left or right) has cardiac

notch?

o Watch Video Solution



https://dl.doubtnut.com/l/_btewhgwsij5A
https://dl.doubtnut.com/l/_FxeneahvkXmf
https://dl.doubtnut.com/l/_78Low5XFmUZ6

33. In which direction diaphragm moves

during inspiration ?

o Watch Video Solution

34. What is the volume of anatomical dead

space air?

o Watch Video Solution



https://dl.doubtnut.com/l/_78Low5XFmUZ6
https://dl.doubtnut.com/l/_JxwJY1tFTicI
https://dl.doubtnut.com/l/_IOVmBE6OhogF

35. Which gland in the body is swelled in lung

cancer?

o Watch Video Solution

36. At which height the symptoms of mountain

sickness are seen?

o Watch Video Solution



https://dl.doubtnut.com/l/_kTn6P9Mt2PRC
https://dl.doubtnut.com/l/_n5v8KdKf9ddn

37. What is the rate of respiration/breathing in

adult man per minute?

° Watch Video Solution

38. What is the full form of COPD?

° Watch Video Solution

39. What is dyspnoea?

° Watch Video Solution



https://dl.doubtnut.com/l/_Iusm5p1k6Jht
https://dl.doubtnut.com/l/_m8vFs1MGqL3B
https://dl.doubtnut.com/l/_lLxO6N0Ki084

40. What is the value of total lung capacity in

adults ?

o Watch Video Solution

Short Answer Type Questions

1. What is the normal composition of alveolar

air.

o Watch Video Solution



https://dl.doubtnut.com/l/_lLxO6N0Ki084
https://dl.doubtnut.com/l/_P7S7etDzMPLU
https://dl.doubtnut.com/l/_Bh1tzLC0avx0

2. What is Tidal air (Tidal volume) ?

o Watch Video Solution

3. (a) Mention the different organs involved in

respiratory system.

° Watch Video Solution



https://dl.doubtnut.com/l/_Bh1tzLC0avx0
https://dl.doubtnut.com/l/_RMvwU4u2aUwF
https://dl.doubtnut.com/l/_J0zG1In38YaK

4. (b) What are the compartments of lungs air

?

o Watch Video Solution

5. (c) Mention the percentage of oxygen in

Inspired .Alveolar and Expired air.

o Watch Video Solution

6. (a) What is vital capacity ?



https://dl.doubtnut.com/l/_xeR169nlHdwr
https://dl.doubtnut.com/l/_d4Ajk7itvCxU
https://dl.doubtnut.com/l/_yopyQzk8Wzte

o Watch Video Solution

7. (b) What is the difference between
pulmonary ventilation and alveolar

ventilation?

o Watch Video Solution

8. (a) Name the main muscle of Inspiration.

o Watch Video Solution



https://dl.doubtnut.com/l/_yopyQzk8Wzte
https://dl.doubtnut.com/l/_OavaMzPsFvss
https://dl.doubtnut.com/l/_vhcevUJGnTpc
https://dl.doubtnut.com/l/_Svxln0imNukH

9. (b) Explain the mechanism of (i) Quiet and

(i) Forced Expiration.

° Watch Video Solution

10. A. What is the percentage of oxygen in (a)
Inspired air at (i) Sea level (ii) 10,000 ft high

altitude (b) Expired air, (c) Alveolar air?

° Watch Video Solution



https://dl.doubtnut.com/l/_Svxln0imNukH
https://dl.doubtnut.com/l/_mhJXrdLmklnS

11. B. How much O, is carried by (a) 100 ml
arterial blood and (b) 100 ml venous blood? (c)
Why there is difficulty of respiration at 10,000

ft high altitude?

° Watch Video Solution

12. Explain the following terms (a) Inspiratory

reserve volume (b) Expiratory reserve volume.

o Watch Video Solution



https://dl.doubtnut.com/l/_DQ0FfkqLicS3
https://dl.doubtnut.com/l/_QH1q874w1IP7
https://dl.doubtnut.com/l/_EOmo4tSbuU8i

13. Explain the following terms (b) Expiratory

reserve volume.

o Watch Video Solution

14. (a) If we try to breath in and out through a

long tube, will it be easy ? Give reasons.

o Watch Video Solution



https://dl.doubtnut.com/l/_EOmo4tSbuU8i
https://dl.doubtnut.com/l/_1SkkfH54TpOf

15. (b) What is the percentage CO, in (i)

Inspired air and (ii) Expired air?

o Watch Video Solution

16. (c) State the functions of COs in our body.

o Watch Video Solution

17. (a) What is chloride shift ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mcYMpORgpfwr
https://dl.doubtnut.com/l/_RfIGXkrhZXFH
https://dl.doubtnut.com/l/_twaCQGpmnusz

18. (b) Why more H,(CO5 is formed in RBC

than in plasma?

o Watch Video Solution

19. (c) How much O, is carried by one g of

Haemoglobin ?

o Watch Video Solution



https://dl.doubtnut.com/l/_twaCQGpmnusz
https://dl.doubtnut.com/l/_e4mCLSQPK069
https://dl.doubtnut.com/l/_Ur7Kz03PDP0U

20. (d) How many molecules of Oy are

combined with one molecule of Haemoglobin?

o Watch Video Solution

21. (a) What is surfactant?

o Watch Video Solution

22. (b) What is the air pressure within the

lungs of man?



https://dl.doubtnut.com/l/_7T4sRnyA5Gb2
https://dl.doubtnut.com/l/_yCBYR8OSpuaq
https://dl.doubtnut.com/l/_KMDEpCSmVZ1g

o Watch Video Solution

23. Explain the following : (a) We can hold our

breath for about 40-50 sec only.

o Watch Video Solution

24. Explain the following :(b) At higher altitude
(i) Respiration is hurried, (i) RBC count is

increased.

o Watch Video Solution



https://dl.doubtnut.com/l/_KMDEpCSmVZ1g
https://dl.doubtnut.com/l/_5Hlvj255Ud3m
https://dl.doubtnut.com/l/_btBshNDCcVLo

25. (a) What is dead space air? What is its

value in normal adult male ?

o Watch Video Solution

26. (b) Name the respiratory centres and

mention their location in brain stem.

o Watch Video Solution



https://dl.doubtnut.com/l/_btBshNDCcVLo
https://dl.doubtnut.com/l/_nXdttjznB66J
https://dl.doubtnut.com/l/_Cl4cCTqz3M3r

27. (a) How does C'O, enter the lungs from

blood?

o Watch Video Solution

28. (b) How does O, enter the blood from
lungs? (c) Name the membrane covering the

lungs.

o Watch Video Solution



https://dl.doubtnut.com/l/_BqO3fFnOlWXV
https://dl.doubtnut.com/l/_AsxmcTuxK8fD

29. (a) What is ventilation perfusion ratio?

o Watch Video Solution

30. (b) What is the effect of raised CO,
concentration in arterial blood on respiratory

rate ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7aWabDywlTIz
https://dl.doubtnut.com/l/_0giQBQh2B8b9

31. (a) Why the chloride concentration of RBC
in venous blood is more than that of RBC in

arterial blood ?

o Watch Video Solution

32. State the factors controlling respiration.

o Watch Video Solution



https://dl.doubtnut.com/l/_6V6iiVWTWgTl
https://dl.doubtnut.com/l/_RKxy296cs7Dw

33. From where the rhythm of respiration is

generated in the human body?

° Watch Video Solution

34. Explain why trachea does not collapse ?

° Watch Video Solution

35. Mention the amount of CO, in (a) 100 ml

venous blood and (b) 100 ml arterial blood.



https://dl.doubtnut.com/l/_Eb4ldpUMob3r
https://dl.doubtnut.com/l/_i3ChnSA11iQS
https://dl.doubtnut.com/l/_0wX5EyjSajwP

o Watch Video Solution

36. Between O, and C'O5 which one is present

more in arterial blood ?

o Watch Video Solution

37. Why is the amount of COy less in expired

air than that in alveolar air ?

o Watch Video Solution



https://dl.doubtnut.com/l/_0wX5EyjSajwP
https://dl.doubtnut.com/l/_3ZlhEDznoDRd
https://dl.doubtnut.com/l/_zE25HdbaqejQ
https://dl.doubtnut.com/l/_uT4vjzd6JM9P

38. In which form is CO5 carried in venous

blood ?

o Watch Video Solution

39. (a) What is Apnoea ? (b) What are its

causes? (c) What is Cheyne-stokes breathing ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uT4vjzd6JM9P
https://dl.doubtnut.com/l/_2G3oSGhmbzzl

40. (a) What is Mountain sickness? (b) What

are its symptoms ?

° Watch Video Solution

41.(a) What is Active and Passive Smoking? (b)
What are the effects of smoking on respiratory

system ?

° Watch Video Solution



https://dl.doubtnut.com/l/_e6KUtYS1EDpK
https://dl.doubtnut.com/l/_ZheFw85bsjZj

42. (a) What did you mean by anoxia or

hypoxia? (b) Define anoxaemia?

o Watch Video Solution

43. Mention the location of Pharynx and

Larynx.

o Watch Video Solution

44.What is Epiglottis? What is its function?



https://dl.doubtnut.com/l/_ASJcRbUbEXd7
https://dl.doubtnut.com/l/_u4AbPIG3fpmK
https://dl.doubtnut.com/l/_pVY6IhwL0max

o Watch Video Solution

45. When and why the voice of male becomes

deeper than in female?

° Watch Video Solution

46. State the position of Trachea in respiratory

tract.

o Watch Video Solution



https://dl.doubtnut.com/l/_pVY6IhwL0max
https://dl.doubtnut.com/l/_6ku0u6cWFeZX
https://dl.doubtnut.com/l/_1F875nNb6rlx
https://dl.doubtnut.com/l/_m9Ck0xzPqnXc

47. Between left and right lungs, which one is

comparatively smaller and why?

o Watch Video Solution

48. What are Alveoli?

o Watch Video Solution

49. What is Inspiratory capacity?

o Watch Video Solution



https://dl.doubtnut.com/l/_m9Ck0xzPqnXc
https://dl.doubtnut.com/l/_LRxRYjhRI5cz
https://dl.doubtnut.com/l/_7v7ScLsrOcZV

50. Mention the number of lobes in left and

right lungs.

o Watch Video Solution

51. Name the muscles of forced expiration.

o Watch Video Solution

52. State the functions of respiratory tract.

| & I


https://dl.doubtnut.com/l/_7v7ScLsrOcZV
https://dl.doubtnut.com/l/_D4BrNnLDQXWJ
https://dl.doubtnut.com/l/_lSSETZq4ZRhr
https://dl.doubtnut.com/l/_u4uvJ3J43zPA

| ¥ Watch Video Solution J

53. What is Vital capacity? What is its volume?

o Watch Video Solution

54. What do you mean by active and passive

smoking ?

° Watch Video Solution



https://dl.doubtnut.com/l/_u4uvJ3J43zPA
https://dl.doubtnut.com/l/_70hLG1Itewgw
https://dl.doubtnut.com/l/_Pf9SgYImmhZS

55. Name two poisonous gases present in the

smoke of cigarette.

o Watch Video Solution

56. State why lack of oxygen occurs in the body

in higher altitude

o Watch Video Solution

57.State the causes of asthma



https://dl.doubtnut.com/l/_5im2DkJb4kgL
https://dl.doubtnut.com/l/_kSLvq0uX2xKa
https://dl.doubtnut.com/l/_TOeDRXGHBoxz

o Watch Video Solution

58. What is the value of intrapulmonary

pressure in normal and forced inspiration?

o Watch Video Solution

59. What is Cyanosis?

o Watch Video Solution

Differentiation


https://dl.doubtnut.com/l/_TOeDRXGHBoxz
https://dl.doubtnut.com/l/_RBNmJwVfFmDR
https://dl.doubtnut.com/l/_tCanKxtttGQa

1. Inspiration and Expiration.

o Watch Video Solution

2. Ligament and tendon

o Watch Video Solution

3. Total lung capacity and vital capacity.

o Watch Video Solution



https://dl.doubtnut.com/l/_JRhYF6sxk0tL
https://dl.doubtnut.com/l/_zRD5qe8n1dk5
https://dl.doubtnut.com/l/_iUNv8hQoWS8A

4. What is vital capacity?

o Watch Video Solution

5. Tidal volume and residual volume.

o Watch Video Solution

6. Breathing and Respiration.

o Watch Video Solution



https://dl.doubtnut.com/l/_iUNv8hQoWS8A
https://dl.doubtnut.com/l/_O6QVJi4zTeBz
https://dl.doubtnut.com/l/_kSxmJFBaONBC
https://dl.doubtnut.com/l/_KlUahVEnqNiw

7. Tracheole and Bronchiole

o Watch Video Solution

Long Answer Type Questions

1. What is respiratory tract?

o Watch Video Solution



https://dl.doubtnut.com/l/_KlUahVEnqNiw
https://dl.doubtnut.com/l/_vhBmz4j7D7jD
https://dl.doubtnut.com/l/_3iSFteHRrA41

2. Give the location of larynx.

o Watch Video Solution

3. State the functions of lungs

o Watch Video Solution

4. Name the respiratory muscles involved in

respiration

o Watch Video Solution



https://dl.doubtnut.com/l/_nI7ARjok4JJu
https://dl.doubtnut.com/l/_R5wnbyDMxEYa
https://dl.doubtnut.com/l/_zlVGskZzZyC9

5. What is Inspiration?

o Watch Video Solution

6. What are the two nervous centre of

respiration

o Watch Video Solution

7. Mention different lung volumes



https://dl.doubtnut.com/l/_zlVGskZzZyC9
https://dl.doubtnut.com/l/_xwsYIXp4lQCC
https://dl.doubtnut.com/l/_ZtdsGXczXdAF
https://dl.doubtnut.com/l/_T41eiSPHV4sr

o Watch Video Solution

8. Define Inspiratory Reserve Volume

o Watch Video Solution

9. Name the common respiratory diseases.
What is Asthma? State its causes and mention

its symptoms.

o Watch Video Solution



https://dl.doubtnut.com/l/_T41eiSPHV4sr
https://dl.doubtnut.com/l/_l2bGCk7VaFgr
https://dl.doubtnut.com/l/_FzxptamBxAAz
https://dl.doubtnut.com/l/_z8zcqD2ALHpO

10. What is Hypoxia?

o Watch Video Solution

1. What is Lung cancer? Mention the causes

o Watch Video Solution

12. What is Tuberculosis ? State its symptoms

and mention its treatments.

o Watch Video Solution



https://dl.doubtnut.com/l/_z8zcqD2ALHpO
https://dl.doubtnut.com/l/_VFaVa9WDooyv
https://dl.doubtnut.com/l/_jpElxbBESgAg

13. What is Mountain sickness? State its causes

and mention the symptoms.

o Watch Video Solution

14. What is Oxyhaemoglobin?

o Watch Video Solution

Ncert Questions


https://dl.doubtnut.com/l/_jpElxbBESgAg
https://dl.doubtnut.com/l/_iFTX14bKtQH9
https://dl.doubtnut.com/l/_MdC6WdZ8PYKW
https://dl.doubtnut.com/l/_PAYD4LwwtBYY

1. Define the vital capacity . What is its

significance.

o Watch Video Solution

2. State the volume of air remaining in the

lungs after a normal breathing .

° Watch Video Solution

3. Define Nasopharynx

l ° Watch Video Solution


https://dl.doubtnut.com/l/_PAYD4LwwtBYY
https://dl.doubtnut.com/l/_ICSYmcMbsR5o
https://dl.doubtnut.com/l/_E5vVPZCynOtA

4. What is Total Lung Capacity?

O Watch Video Solution

5. What will be the Py, and Pgp, in the
atmospheric air compared to those in the
alveolar air ?

(1) Pp, lesser, Pcop, higher (ii)Pp,higher,Pgp,
lesser (iii) Pp,higher,Ppp, higher (iv))Pp,lesser,

Peo, lesser.



https://dl.doubtnut.com/l/_E5vVPZCynOtA
https://dl.doubtnut.com/l/_B1iEy4uPlL82
https://dl.doubtnut.com/l/_lyBH1pakbstH

Watch Video Solution

6. What is the main cause of Emphysema?

o Watch Video Solution

7. What will be the Pp, and Pgp, in the
atmospheric air compared to those in the

alveolar air ?

o Watch Video Solution



https://dl.doubtnut.com/l/_lyBH1pakbstH
https://dl.doubtnut.com/l/_B5o2qJ1oD36l
https://dl.doubtnut.com/l/_HkYIzvNE2pJR
https://dl.doubtnut.com/l/_jbNy8GYtFNvx

8. What will be the Pp, and Pgp, in the
atmospheric air compared to those in the

alveolar air ?

o Watch Video Solution

9. What is Diffusion?

o Watch Video Solution

10. Define residual volume

| €8 |


https://dl.doubtnut.com/l/_jbNy8GYtFNvx
https://dl.doubtnut.com/l/_7lRPxyjb8hH5
https://dl.doubtnut.com/l/_KJgTp1G8eJNy

| ¥ Watch Video Solution J

11. What is Asphyxia?

o Watch Video Solution

12. What happens to the respiratory process in

a man going up a hill?

° Watch Video Solution



https://dl.doubtnut.com/l/_KJgTp1G8eJNy
https://dl.doubtnut.com/l/_YqD5B0DQ0bdh
https://dl.doubtnut.com/l/_pVaENdB29Shi

13. What is the site of gaseous exchange in an

insect?

o Watch Video Solution

14. Define oxygen dissociation curve. Can you

suggest any reason for its sigmoidal pattern?

o Watch Video Solution



https://dl.doubtnut.com/l/_cKvLR2RgyttO
https://dl.doubtnut.com/l/_niDd9Ufl0kNn

15. Have you heard about hypoxia? Try to
gather information about it, and discuss with

your friends.

o Watch Video Solution

16. Distinguish between (a) IRV and ERV

o Watch Video Solution



https://dl.doubtnut.com/l/_vB2agIj2FbcG
https://dl.doubtnut.com/l/_5L1Vg7kCR4sw

17. (b) Inspiratory capacity and Expiratory

capacity.

o Watch Video Solution

18. (c) Vital capacity and Total lung capacity.

o Watch Video Solution

19. What is Tidal volume? Find out the Tidal

volume (approximate value) for a healthy


https://dl.doubtnut.com/l/_kvL8nppCiJps
https://dl.doubtnut.com/l/_NFJTLmjAMNWg
https://dl.doubtnut.com/l/_D8W7Pxn4kCFr

human in an hour.

° Watch Video Solution



https://dl.doubtnut.com/l/_D8W7Pxn4kCFr

